
Jane has 20 sweets and shares them between 5 

friends. 

Tom has 20 sweets and shares them between 10 

friends. 

Whose friends will get the most sweets? 

 

Jack Horner is putting plums into bags. 

Each bag holds 8 plums. Jack has 64 

plums. How many bags can he fill? 

Simon is putting pies into boxes. Each box 

holds 8 pies. Simon has baked 32 pies. 

How many boxes can Simon fill? 



40 Pencils are shared between 5 children. 

How many pencils does each child get? 

I have 70p in my pocket in 10p coins. How 

many coins do I have? 



I have 24p in 2 pence pieces. How many 2 

pence pieces do I have? 

I have 40p and share it between my two 

friends. How much will they each get? 



I have 35p in my purse in 5 pence pieces. 

How many 5 pence pieces do I have? 

Can I share 10p between my 3 friends equally? 

I have 35p in my purse in 5 pence pieces. 

How many 5 pence pieces do I have? 

Kevin had a sack of 56 apples. He put the 

apples into bags of 7. How many bags did 

Kevin need?



Prince Charming is planting seeds. He has 

63 seeds. Prince Charming plants 9 seeds 

in each pot. How many pots can he fill? 

Steven picked 24 roses from his garden. 

Steven shared the roses out amongst 

himself and 7 friends. How many roses 

did they each get? 



Cinderella is putting her photographs in an 

album. She has 45 photos. Each page of the 

album holds 6 photos. How many pages will 

Cinderella need for all her photographs? 

Pens come in packs of 20. We need 5 in each 

pot. How many pots do we need? 



I have 60p in my purse in 20 pence pieces. 

How many 20 pence pieces do I have? 


